1B; Maths SL Test 7
‘Wednesday 4 June 2025

Subject: Domain € composite functions ANSWERS

Question 1

Find the domain of the following functions

3125 — 17(1+§)8+x(a;+1)(x+2) —22

1) fl(x): 17 Di=R

2) fow) = et 0 Dy=R\{~1,0}

3) fo(2) =" Da=[1,00[\{=3,2} =[1,00[\{2}
4 fuw) == D= 5,91

5) fo(a) =202 18 lossle %) Ds=12,5]

Question 2

Given f(x)z% and g(x)= 1;30

41—a>

2(l—=x 2(1l —x
D) (Fo9)o) = 2y = 1o =25

4x 1—x 2¢(1 —x
2) (f.9)(2) = 5oy x 150 = 2020

2z +1
2(1 — 2x(1 — 1 T
3) (fog)w)=(fg)(x) & -2 =20"D 0 yo1 or ="

s2r+l=22-2)er?=-1 ¢ R
then S={1}



